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I'm afraid I'm missing something important. For
example, when I really want to read an interesting book, I
often have to do my school work first. If I have more time
and can choose things I'd like to do, I'll be able to enjoy life
and learn more important things. (50 words)

R 2)

I don't think I'll miss anything important. As a student, I
study a lot and also play sports. I can learn important things
while I'm studying or playing sports. Sometimes I'm busy,
but if I want to do something, I can usually find time and
enjoy doing it. (48 words)
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